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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 447 9.1 2.5 15 60.4 100
2 240 14.8 3.8 25 59.3 53.7
3 40 12.7 5.6 25 50.9 8.9
4 166 15.4 5.3 25 61.6 37.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	WJEC 2017 Online Exam Review
	GCE GEOLOGY GL5 THEME 4 1215-04
	Item Level Data
	Facility factor graph
	Question 4
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


























		candidate 1 ..pdf

		theme 4 candidate 1 page 1

		theme 4 candidate 1 page 2

		theme 4 candidate 1 page 3

		theme 4 candidate 1 page 4

		theme 4 candidate 1 page 5






















		candidate 2 ..pdf

		theme 4 candidate 2 page 1

		theme 4 candidate 2 page 2

		theme 4 candidate 2 page 3






























		candidate 3 ..pdf

		theme 4 candidate 3 page 1

		theme 4 candidate 3 page 2

		theme 4 candidate 3 page 3

		theme 4 candidate 3 page 4

		theme 4 candidate 3 page 5












4 
© WJEC CBAC Ltd. 


 
3. (a) Describe how the structure of an accretionary prism provides evidence for the 


process of accretion. 
 
 (b) Evaluate the role of accretion in the growth of continental crust. 


[25] 
 (a) Description. 
 
  Structure dominated by brittle thrust/reverse faults and ductile folds. Age 


relationship is discrete thrust slices that young towards the trench.  
 


When two tectonic plates collide subduction occurs with low density sediment 
on the ocean floor scraped off by the over-riding (usually continental) plate. 
This results in the formation of a mass of material called an accretionary 
prism. Volcanic island arcs and/or seamounts may collide with the continent, 
and as they are of relatively low density they will often be thrust onto the 
leading edge of the continent, thereby adding to it in a sequential fashion.  


 
 (b) Evaluation. 
 
  Accretion is an extremely important process in the growth of continents as 


evidenced by ancient accretionary wedges e.g. Palaeozoic of Southern 
Uplands of Scotland/ recent Sumatra as well as age distribution of rocks in 
continents - younger to edge of plate. However, other processes add to 
volume of continents e.g. obduction of ophiolites and incorporation of the 
partial melt (intrusives/extrusives) of the subducted plate. Could argue that 
accretion is mainly recycling eroded continents. 


 
Total 25 marks 


 
 
4. ‘The type of deformation a rock undergoes in the lithosphere is controlled primarily by 


depth’. 
 Evaluate this statement. 


[25] 
Description. 
 
Increasing depth results in increased confining pressures and increased 
temperatures (except in subduction zones). Consequently brittle deformation (faults) 
at shallow depths and ductile deformation (folds) at greater depths. Discussion of 
fault and fold types. Definition of elastic/ plastic/ strain and stress-strain curves to 
support this discussion. 
 
Evaluation. 
 
Given that increased confining pressures and increased temperatures are major 
controls on the way in which rocks deform then depth is very important. However 
other factors can influence the type of deformation a rock suffers including: rock type 
(competence)/ principal stress orientation/ strain rate/ role of fluids (water). 


 
Total 25 marks 
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Sticky Note

A promising start showing evaluation from the outset.



Sticky Note

The graph is very useful in identifying that the candidate understands the role of temperature in influencing how rocks deform,



Sticky Note

Error here. Obviously this should be ductile deformation.



Sticky Note

After a very promising start the candidate is now starting to produce spurious and erroneous material.







Sticky Note

This is very true and the candidate could take this in many ways e.g. rocks weaker under tensional stress or the different types of fault that form under different stress regimes. However their statement is incorrect.



Sticky Note

It is possible to credit the knowledge on stress here but much of the material above is irrelevant.







Sticky Note

As with the previous material, the bulk of this text is irrelevant.



Sticky Note

We are back now to the point and although the meaning of brittle is clearly not grasped, there is a good evaluation on the role of rock type/competence on structural development.







Sticky Note

This text clearly supports the diagram and the term brittle is used correctly. Tension gashes gives a hint of flair. 



Sticky Note

This could be developed more to discuss how confining pressure results in rocks becoming more ductile with depth.



Sticky Note

The response is once again rather confused and adds nothing to the answer.







Sticky Note

A reduction in grain/crystal size can increase the amount of deformation a rock suffers but given the candidates previous errors and given that this is a very high level concept it is unlikely that the candidate grasps the implications of what they are saying.



Sticky Note

Although it is difficult to state what is the most important factor in rock deformation, the candidate has evaluated the question and had a go which will be rewarded.



Sticky Note

The candidate has a reasonable grasp of the basics but the essay is rather spoiled by too many errors. However, the evaluation pushes what would be a quite good essay just into a good one. 17.
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Sticky Note

A very promising start identifying the factors that vary with depth and could influence the way in which a rock deforms.



Sticky Note

Unfortunately this is incorrect as an increase in confining pressure generally makes rocks deform in a more ductile manner so they deform. However, this is the only error in this essay.



Sticky Note

Valid grasp of concepts here. Although one could quibble with some of the text, this graph indicates the candidate has a good grasp of the role of temperature.







Sticky Note

A good discussion of the role of rock type showing sound knowledge and understanding.



Sticky Note

A good discussion of the role of strain rate in influencing the manner in which a rock deforms showing sound knowledge and understanding.








Sticky Note

A fine concluding evaluative comment on the role various others factors have on rock deformation in addition to depth.



Sticky Note

The candidate has shown a secure grasp of the basics showing good knowledge and a direct/explicit answer. An evaluation of the question is provided but the lack of depth and minor error preclude this from being a 'very good' answer. 19.
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Sticky Note

This is a good way to start the essay. Defining key terms and explaining key principles which will then be referred back to throughout the essay.



Sticky Note

The student clearly identifies the two factors that he must tackle in the essay relating to depth.







Sticky Note

This graph and the text below clearly shows that the candidate understands the role of temperature. If one was critical the description of all three of the temperatures is not needed as the graph clearly shows this.







Sticky Note

This is incorrect. Increasing confining pressure actually inhibits the formation of fractures. The classic experiments on the Yule Marble demonstrate this. The shape of the stress-strain graph is also incorrect- a higher confining pressures the rock although stronger has greater permanent strain.







Sticky Note

Again the text down to here is not really necessary.



Sticky Note

A nice evaluative section develops here discussing the role of rock type on deformation style.







Sticky Note

Although not particularly specific to an individual location, it is nice to see field examples in a lithosphere essay which is not often the norm.



Sticky Note

Three really powerful comments are made here detailing the additional roles of strain rate, stress type and fluid content (very rarely mentioned by candidates)



Sticky Note

If the candidate had not made the error regarding the role of confining pressure this would have been an 'outstanding' essay. However, none-the-less a thorough grasp of concepts is evident and a thorough critique of the question is made. 22.
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SECTION B


Answer one question only.


Write your answer in the remaining pages of this booklet.


4. ‘The type of deformation a rock undergoes in the lithosphere is controlled primarily by depth’.
Evaluate this statement. [25]
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